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MATH 332
Quiz 3
November 168, 1994 Name

X 1. Definitions:
a. A subset H of & vector space V is called a subspace of V if and only if
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b. The vectors by, by, ..., bp form a basis for a vector space V if and oniy

/3 2. Find a basis for the subspace spanned by the vectors (1,1.-2.3), (-3,-3.8,-8), (0.0,4.8).
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a. Find a basis for the row space of A:
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b. Find & basis for the column space of A:
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4. Find a basis for the subspace of M, (the 2x2 matrices) consisting of matrices where

a the 1.1 entry is 0. What is the dimension of this subspace? o
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